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ECONOMICS
[ Honours]
PAPER — V

Full Marks : 90

Time : 4 hours

The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Hltustrate the answers wherever necessary

GROUP - A

Answer any three questions :  10x3

I. {4) Whatis a Two Person Constant Sum Game
(TPCSG) ? What is the difference between
TPCSG and Two Person Zcro Sum Game
(TPZSG)? Explain a TPZSG giving a
suitable example. 24242
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(#) What do you mean by pure and mixed
strategies in a game ? When do weuse
mixed strategy ? , 31

2. (a) Distinguish between Leontief open and
closed model.

Ln

{h) Consider the following inter-industry
0-4 0-5]
input coefficient matrix 0-3 O-E_Iand

check whether the system satisfies
Hawkins-Simon conditions. 5

3. (a) Solve the following Linear ?rogramming
problem (LLP) graphically:
" Max. Z =10x,+15x,

5. 1. x|+x222
Iz, +2%,56
and X s%X,2 0. 4

(b) Setup a 'diet problem’ as a standard
example of a LPP and obtain its dual. 6
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What is 'Warranted rate of growth' in Harrod's
Mode! ? How do you derive it? Derive the
fundamental equation of growth in Solow's
model. : 5+5

Consider the following demand and supply
functions

D = 420-10P,
and S = —-20 FL_
with notations having usual meaning.
(a) Obtain the equilibrium price P, the time

path of price and quantity respectively. 5

(p) Find the number of periods necessary 1o
adjust price within an absolute deviation
0-01 ; of equilibrium price. [t is assumed
that p, to be 25 % below of P. 5

Show that in the game of Prisoner's Dilemma.

“the Pareto efficient outcome is strategically
dominated by an inefficient outcome. 10
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" GROUP - B
Answer any eight questions : 5x8

7. Explain the principle of 'maximin' and 'minimax’
strategy with example to solve a game theoretic
problem.

8. How do vou define 'Consumption Possibility-
l.ocus' of an economy ?

9. What are the basic propositions of the growth
model, provided by Evsey Domar ? Mention.

10. What is meant by 'Seclow Technological
Progress' function 7 Explain with diagram.

11. Distinguish between private and social cost of a
project.

12. What is the problem of knife-edge instability in
Harrodian Growth Model ? Explain.
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13. Utility function of the goods is given by
U=(x+2)(y+1).1t is given that P =Rs. 4
and P, =Rs. 6. The individual's fixed income is
Rs. 130. Find the optimum level of purchase of
the two commodities.

14. Define CES production function. Prove
that CES production function is linearly
homogeneous.

15. Prove that, for a Leontief Stdtic Closed Input
Output Model, the sum of 'direct input require- -
ment' and 'indirect input requirement' equals

. unity.

16. Given the production function
Q =Xy 06

with P_and P are constants. Show that, Long
Run Marginal Cost (LRMC) equals Long Run
Average Cost (LRAC) for the above case.
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17. Find the optimal assignment for the following

problem :
NS

P 12| 24| 15

P,| 23] 18| 24

Py 30| 14| 28

18. Solve the following transportation problem :

Dl Dz D3 a

i

O 8 3 |60
0,1 3 81 9170
03 11 5 180
b, 50 80 80
GROUP —C
Answer any five questions : 4 x5

19. Define 'saddle point' in a Game. What is its
significance 7
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21.

2Z.

24.

25,

26.
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Mention the major shortcomings of
Mahalanobis 2 sector plan model.

Obtain the elasticity of substitution for a CES
production function.

Distinguish  between Slack and Surplus
variables.

. What is 'Internal Rate of Return' ? How does it

help in evaluating a project for selection ?

If U=(x+a). (v+p); show that

MRS-‘-E-M
b x+o’

Derive the supply curve of a firm under perfect
competition if the total cost curve is given by

C=og’+Pg2+yg+8.

Determine the growth rate when propeusity to
save is 30% and capital output ratio is 5.
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31 {%) Two Person Constant Sum Game 31 &
@ ? @ffa 5w Two Person Zero Sum
Game <7 #ligf 7 Gagam @36 Two

Person Zero Sum Game I $9 |
L+HR

(#)ﬁwﬁ@w36QMFﬁmaWﬁﬁ$ﬂW?
STt @Y iy (e g P 2 COTEN

2 (7)) 15 8 7 FISAGET WOAd ALJ/ I | ¢
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of (¥) cTefE smfsr waw e LPPfi

YR FF |
Max. Z =10xl+15x2
s. L. x‘+x2>:2
o 3x 2,56 |
and x, ,x,20. 8

(%) LPP SITAMG-1A (PCa @3 “diet problem’
orgre 37 @3t @fon ‘dual’ Fefy w2 )

8! Harrod @3 weta ‘T Iy o7 [Rwafs § 2
% Frer WARS =@ 7 Solow Wwew JES
chfers sifiaefe fefa =7 ¢+e

¢l Aty @l sifdw 8 @ena STerssE eT T —
D =420-10P,
a3y § = -20+P,

(¥) &% cor@ oIy WN P, Gt WiH @
AR Ao (time path) I 1 ¢
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HETE ? @

w08 @ ‘Prisoner's Dilemma’ (e (FEsre
s @G o TEleH Pareto WE  PEAPTER

oy

L3

L

Gog e RE I sa
faeit — 4
@ @A w5 ATee Bed we 3 & 5 W

4%f3 game T TG 97 (FLI ‘maximin’
93¢ ‘minimax’ qTei6 THEA AL IR FY |

w@iq  wdfqEE® Consumption Possibility
Locus fFeia sisws o0 7

o (oI owe WYfEd et T AfSerT
frmafa & & 2

| *Solow Technological Progress" function
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sy 93l ogwEr feds ¢ Fufes JEa Ty
ofiofz] FY |

yx| Harrod o2& &g  Wew@d  ‘knife-edge
instability ” TG J g F9 |

sol b =R Utility Somss 7 U=(x+2) (y+ 1) |
crex Witz P =Rs. 4, P,=Rs. 6, @ A&
7 9" 2 Rs. 130 1 x 933 v WE9 PO &FER
DGR CEIE G

»81 CES S&olvR SITH(F e/t wWie | 4N 9 (|,
CES Teoiima Srorsd linearly homogeneous & |

yai o499 ¥ &, Leontied Static Closed Input
Output Model- @ Direct Input Requirement
@3¢ Indirect Input Requirement €% i8 54wl

93FF (unity )= |
st ¢35 Besd STET (el @
Q=XO‘4 Yms

NI P q3 P 3 |
mem &% CF0E A 2 7 (LRMC)
WWW(LRAC)WWI
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yat Freg ewe st w35 2209 optimal assignment
efm g

JyoJ, J5

P o12] 241 15

P, 23| 18] 24

P 30| 14| 28

vyt Fralefis «iae sewm T Ty [y

g 1
D, D, D; a;
ol 81713160
o, 3181|970
O,{ 11 ]3] 35|80
/JI. 50 80 80
fastst — a1
@ car sl Jom Sea we ¢ 8 x ¢

vt @33 Game ~ @ ‘saddle point’ &% =
wte | aftg Siesd 1 2
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y0| TEAERIM F-rwam AfFeea wewEw SMRme!
o &= 7 Stay 31 |

331 CES Sesim  S0orsed @ ARISOR
Hfoygerst’ Fdg @7 |

231 T5F% @ Tgw s Wy AE I

>l Internal Rate of Return § 7 @9 998 SNAR
T aft 1 sher «ima 3R ?

281 8% U=(x+a)°. (y+ p) W, S (7di8 (¥,

MRs = 2. 232
b x+c

xai 4t masmw qrEE [IEE v Wt
et G fAefa =g afe s el frmet
T —
C=cg’+Pg*+yg + 8.
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